.vw?ﬁua*ﬁmliﬂﬁ_un%mm
SINGLE-PHRASE'SPLIT PHASE INDUGT MOTORS

L=

 YUJEFIatEeB RN RN
© (LERTIHENHEEERAKAINMN
o GMEMNER. B, ETERME

BS 25t
GW REF. NO.

YUJ7114 0.16/0.12 = 1400
YUJ7112 0.24/0.18 = 2800
YUJ7124 0.24/0.18 = 1400
YUJ7122 0.34/0.25 = 2800
YUJ8014 0.34/0.25 = 1400
YUJ8012 0.50/0.37 | 2800
YUJ8024 0.50/0.37 | 1400
YUJ8022 0.75/0.55 | 2800

HEE FE

FRAME  VOLTAGE
71 220
71 220
71 220
71 220
80 220
80 220
80 220
80 220

Features :

IEC standard design
Apply to fans/blowers, pump ,compressor and etc
Mounting: B3, B14, B34, B5, B35

WA R BEER SRR HIPER

FREQ = INS. IP CODE
181 50 B 10 55
1.96 50 B 10 55
2.49 50 B 10 55
2.54 50 B 10 55
3.38 50 B 10 55
3.63 50 B 1.0 55
428 50 B 10 55
5.47 50 B 10 55

T

CONT
CONT
CONT
CONT
CONT
CONT
CONT
CONT

B8
WGT LB/KG

12.3/5.6
12.8/5.8
13.9/6.3
14.3/6.5
18.5/8.4
18.7/8.5
21.8/9.9
22.0/10.0




ZHER~T Mounting Dimensions (mm)

JMFZRT Overall Installation Dimension

DH E 3 AC | AD
71 112 90 @ 45+15 | 140508  M5*125 3040260 5 943 11 05, 7195 770 136 141 | 116 | 240
80 125 100 50+15 | 19 *05%  M6*16 | 40+0310 6 0.3 15595, | 80 95 10707 154 | 159 1265 | 282
8
e
L YUJ-B5

==

Z4ER~F Mounting Dimensions (mm)
E F G M \}

AMIZR~ Overall Installation Dimension

AC AD

Flange

71 | FF130 | 14 *09%  M5*125 30:0260 5 905 11 95, 130 | 1107393 160 100°%° 350, 141 116 | 240
80 | FF165 19 '000:  M6*16 | 40+0.310 6 0. 1559, 165 | 1307005s 200 123°%4° 359 . 159 = 1265 @ 282
i F
-
)
|
)]
= D
YUJ-B14

==

Flange

24 R~ Mounting Dimensions (mm)
E

HMIZR~ Overall Installation Dimension

AC A\D)

71 | FT85 |14 ‘900
80 | FT100 19 "%,  M6*16

N 0
M5*12.5 | 30£0.260 | 5 )3
40+0.310

0
6 -0.030

11 9, 8 70 902 105 Mé
1559, | 100 80 *007 120 M6

BULERIERASE, TREZREH.



